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HUE - A / SECTION - A

TS WY / Objective Type Questions
57T "= 18 100 3% & 997 & §ry ar fraeq {2y oy § o @ vw wt #
=T 50 w¥=t & 3av J97 FRT YA MU @@l fawey w1 OMR iz wv FalEaa
Y 50 x 1 =50
Question Nos. I to 100 have four options, out of which only one is correct.
Answer any 50 questions. You have to mark your sete@led option on the

OMR-Sheet. 50 x 1 =50

1. Tt @ fag P 8 99 m pA W pg @ woof Yard @i 0 #) af

PA = 8 @i @1 PB =
(A) 6 @ (B) & udfi
(C) 12 @i (D) 16 4

From an external paint B, tw@ tangents PA and PB are drawn on a
circle. If PA =8 cm then PB =

(A) 6 cm (B) 8 cm
(C) l12ecm (D) 16 cm
2. ufe pa @ pB Tl W fag P& &= O @id gu gt G el wand @
Ud 2APH= 80° @ £ POA =
(A} 40° (B) 50°
(C) 80° (D) 60°
If PA and PB are the tangents drawn {rom an external point Pto a

circle with centre at O and ZAPB = 80° then ZPOA =

(A)  40° (B) 50°
(C) 80° : (D)  60°
SS/A/605 Page 3 of 44
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3. %m@a%&ﬂﬁgwﬁnﬁwﬂhﬂwﬁfa‘—géﬁrwaﬁa&?ﬁw}l
q ®H-|1 FI0 w17 R o
(A)  30° (B) 45°
(C) 60° (D) 90°
What is thc angle between the tangent drawn at any point of a
circle and the radius passing through the point gt centact ?
(A)  30° (B) 45°
(C) 60° (DI 90°
4. aqﬁﬁﬁmaﬁmm3:4gama§aﬁﬁmm%
(A) 3:4 B 4:3
.i,Cl' 9:16 (D) 16:9
The ratio of the gadi of two circles is 3 : 4 ; then the ratio of their
areas is
(A) I-4 (B) 4:3
(C) 9:16 (D) 16:9
S. 42 ud frsw a9 3w % 3w Brewds R $<a v 30° 2, @ dawa 2
(A) 515 @2 (B) 416 Af2
(C) 462 &2 (D) 406 a2
SS/A/605
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The area of the sector of a circle of radius 42 cm and central angle

https://www.bsebstudy.com

30° is |
(A) 515 cm? (B) 416 cm?
(C) 462 cm? (D) 406 cm?

6. QA H uRfudi +1 3139 5 : 7 & 7 39 Frewmait w1 9
(A)  7:5 B) 5:7
(C) 25:49 (D) 49:25
The ratio of the circumferences of two ¢irclés is 5 : 7 ; then the
ratio of their radii is
(A) 7:5 BY §:7
(C) 25:49 M) 49:25

7. 7sec? A-7tan? A=
(A) 49 B) 7
c) 14 (D) O

8. e _x=aeos0 3N y=bsing a b2x2+a2y2=
&) a’b’ (B) ab
© a'p D) a®+b?
If x=acos0 and y=>bsin0 then b2 x? +f12.92=
A)  a“b* (B) ab
C) a°*b* D)  a’+ b

SS/A/605 0 ) Page S of 44


https://www.bsebstudy.com/

[ 110 |

-

9 U W F 9 &1 IAGA HIV 3EF gie F 10 H A ¢l W 60° 2, al HiAR
$ Fard 2
(A) 104 (B) 10431
(C) 15434 (D) 2043 Hi
The angle of elevation of the top of a tower at a distance of 10 m
from its base is 60° ; then the height of the tewerls
(A) 10m (B) 1043 m
(C) 15/3m (D)  2us3
10, ue gAm gt & 30 ) H Fwd e FalsEd Sy @ 600 F A
9141 2, d1 SR H1 418 B
(A) 3042 Hl (B) 3543 #i
(C) 203 #t (D) 4542 #
A kite Tsta ata Height 30 m from the earth and its string makes an
anclé®A° With the earth. Then the length of the string is
(A)  30y2m (B) 35v3m
(C) 20J3m (D) 45/2m
11 =i siauei 2-5,5-8,8- 11, ... % @l & &g 2
(A) 2 (B) 3
(C) 4 ~ (D) 35
| SS/A/605 Page 6 of 44
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The length of the class intervals of the classes,
2-5,5-8,8-11, ...is

(A) 2 B) 3
C) 4 | (D) 35
12. AR ¥R wman faww demalt w1 ww 6 3, @ wad w< we
(A) 45 (B) 9
(C) 21 (D) 15

If the mean of four consecutive odt/mambérs is 6 then the largest

number is
(A) 45 Jﬂj 9
(C) 21 (D) 15

13. YYUH 6 UW UIHd AR F 01 R

A 4 (B) 6

) 7 (D) & =
The thean of first 6 even ngtural numbers is

@ 4 B 6

c 7 | (D) none of these

14. '1+c012 0 =

2
(A) sin2 0 (B) cosec“@
- 2
] tan?0 (D) sec”®
7 of 44
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16.

8,7,9,3,9.5.4.5,7, 5 % qgT® 8

A S B 7

(C) 8 \/(L’n/g

The mode of 8, 7,9, 3,9,5,4,5,7,51is
(A) S (B) 7
€ 8 (D) 9
3R P(E)=0-02 7 P(E') T 2

(A~ 002 - (B) 0-002
(C) 098 — (D) @57

If P(E)=0:02 then P(E') is equahto

(110 ]

(A) 002 (B) 0-002
(C) 098 (D) 097
17. @ UE B @ WY Ew TR FR AN FH FF T A
el &1 8 ?
1 1
(A) 36 (B) 6
5 | 5
€ 18 (D) 36
Two dice are thrown at the same time. What is the probability that
the difference of the numbers appearing on top is zero ?
1 1
(A) 36 B) 3
5 o 5
(©) 18 (D) 36
SS/A/605 Page 8 of 44
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(A)

W& - D) 1

The probability of getting hcad;s on both the coins in throwing two
coins is
1 1
A 3 (B) 3
c = m )
4

19. ﬁaﬁﬁwonﬁmwﬁmélmaﬁmﬁw@ﬂaﬁ
PICETI R |

G B 15

© = LI

A m@ntHis selected at random in a year. The probability of it being
Junec omseptember is

3 1
(&) Y (B) i3

1 1
[C) '6' [D) Z

20. @w@hﬁm4m5mﬁuﬁm%

V-7

,\@ 2 (B) 3

_ 1 )

© 3 O 3
SS/A/605 Page 9 of 44
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The probability of getting a number 4 or S in throwing a die is

A3 B 3
€ = o) 2
6 3

21. @ el & gl F1 I 64 :125 ¥ A I YT A HI I 8
(A) 25:8 * (B) 25:16 |
(C) 16:25 (D) FH.E ®E T
The ratio of the volumes of two spheres is 64 :125. Then the ratio
of their surface areas is
(A) 25:8 ™ 25:16
(C) 16:25 D) noneof these

- 22, aiﬁﬁﬁmﬁmmwmsatﬁaﬂﬁmaﬂmm?ﬂ,

A I FEA.F HIH 8
(A) 96: 125 B 96:175
(C) 175 : 96 (D) 20:63
The Tadii of two cylinders are in the ratio 4 : 5 and their heights are
in the ratio 6 : 7. Then the ratio of their volumes i8
(A) 96:125 (B) 96:175
(C) 175:96 (D) 20:63

23. Rfrwn a@ sdi@ wEpi gt e
(A) nR® 43;/'2::;22

4] " 3rR2 (D) 4nR?
| SS/A/ 6&] Page 10 of 44
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[110]
What is the total surface area of a hemisphere of radius R ?

2 2

(A) =R (B) 2rR
(C) 3zR? | (D) 4nR?
24. f} fFEl wig F THY8 H1 &weer 880 A2 R 3R frswn 14 AR @ A wwH
fodw =i 2
(A) 10 @ (B) 203
(C) 40 & so FM
If the curved surface area gl axene is 880 cm“and its radius is
14 cm, then its slantheightas
(A) 10 cm (B) 20cm
(C) 40cm (D) 30cm
25.  afe fed o BAE 6 Fwd 2/3 AR R @ 9H FRA T=E R
(A) 2&h | \@/'TJE afy
(C) 3adf (D) 4 &
If the length of the diagonal of a cube is 2¥/3 cm, then the length of
its edge is
(A) 2cm B) 2J3cm
(C}) 3cm ' (D) 4cm

SS/A/605 Page 11 of 44

https://www.bsebstudy.com


https://www.bsebstudy.com/

[110)
freft o9 1 fem 2T 8 I W FE I8 8T6A T F F I8 6 H

26.
fran 7 & S 2
) AT (B) =
(C) ®&: T (D) ER& Tl
If the edge of a cube is doubled then the tgiat surface area will
become how many times of the previous total surface area ?
{A) Two times (B) [Four times
(C) Six timcsl (D Twelve times
27. Tt Mt & g 98 Sedt SNED T ¥ @ I F T 9B S
H1 369 R )
A) 2:1 B) 4:9
C) 3:2 (D) 4:3
The rmtit of the total surface area of a sphere and that of a
hemisphere having the same radius is
AF 2:1 B) 4:9
€) 3:2 D) 4:3
28. afe Rt srdmie & =% i w1232 A2 §, @ sed fiwn R
(A) 7@ B) 14 3#
(C) 21 &M | (D) 288
SS/A/605 Page 12 of 44
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| 1107]
If the curved surface area of a hemisphere is 1232 cm?then its

radius is
(A) 7cm B) 14cm
(C) 21cm . (D) 28 cm

29, llﬁ cosB+c0329=1 @ sin? 0+sin?0 w9 2

A -1 B) 1

€ O | D) 2

If cos®+cos?0=1 then the valiie of sinZ 0¥sin? 0 is

(A) -1 B) 1
(C) O (D) 2
2
30. 1+ ts.m2 A -
l+cat“ A
‘) sec? A By -1
(C) cot?A - (D) tan?A

31. AR A(0,1), B(0,5)W@ C(3,4)%# aaBc & ¥ §, @ aABC®

aawe (i °) R
- (A) 16 B) 12
€ 6 | (D) 4
SS/A/605 ' - Page 13 of 44
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1110
IfA(0,1),B(0,5)and C(3,4) are the vertices of any AABC,

then the area ( in square unit ) of AABC is

(A) 16 (B) 12
C) 6 (D) 4

32. tan 10°.tan 23°. tan 80° . tan 67° =
(A) 0 B 1
© V3 o) 7

33. IR awwy Ol & @F%cll ®1 IFEE 400 144 B, T ITH T &Al
H1 F9E B
(A) 10:8 B8)  12:10

Y 10:12 ¢ (D) 10:13

If the 886 of areas of two similar triangles is 100 : 144 then the
ratio oWgle™ corresponding sides is
(%) 10 8 (B) 12: 10
(C) 10:12 (D) 10:13

34. feft gu A @1 arem fargadl w yfr=dfe = a1l Y@ # waa §
(A)  Sffan (B) BT @
© o) AP

SS/A/605 Page 14 of 44
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A line which intersects a circle in two distinct points is callcd[ |
(A) Chord (B) Secant
[Ci Tangent (D) None of these

35. awﬁgﬁﬁﬁmmmgﬁwﬁ%ﬁgﬁ%mm
9T fopan & 2. |
(A) 9:4 () 16:81
(C) 81:16 (D) 2:3
The corresponding sides of two simular sriangles are in the ratio
4 : 9. What will be the ratio of the:arcas of the triangles ?
(A) 9:4 (B) 16:81
(C) 81:16 (D) 2:3

36. AABC -ADEF @9 BC = 3 @i, EF = 4 ¥l 1 ¢ AABC 1 TG
54 M2 B, @ ADEF#! Hawet }
() s6¥d? B) 96 d?
(C) 196 i’ (D) 49 ¥M?
AABC ~ADEF and BC = 3 c.m', EF = 4 cm. If the area of AABC is
84 cmg. then the area of ADEFis
(A) 56 cm> (B) 96cm?
(C) 196 cm? (D) 49 cm?

.37. Tt B ABCH £A =90°, BC= 13 81, AB = 12 34 @) AC F1 9 2
(A) 3&f B) 4@
) s&f | M 6 Bl

[SS/A/605 | - : Page 15 of 44
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In any AABC, ZA = 90°, BC= 13 cm, AB= 12 ¢m ; then the value of

ACis

(A) 3cm B 4cm
(C) Scm (D)  6cm
38. ADEF 1 APQRW fem & 6 4D = £Q awi 4R = £ a1 Fafefam o

-9 €61 R} ?
(A) 4LF=/ZP (B) <«ZF =4Q
(C) «D=/£P (D) <ZE= 4P
In ADEF and APQR it is given that ZD = £ZQ and £ZR = £E, then
which of the following is correct ? .
(A) ZLF= 2P B). £LF =Z£0Q
(C) 4£D=/LP (D) ZE= 4P

. N ABEBC - CA - - 4 o

39. Mscu.a.xowwmtﬁam = = oF @ “A 0°,
ZB=80° & «F "W}
(A) 30° (B) 45°
(C) 60° (D) 40°
1
AB_BC _CA _ ane
AABC and ADEF are such that DE-FF - DF and ZA = 40°
ZB= 80° ; then the measure of ZF is
(A) 30° - (B) 45°
(C) 60° (D) 40°
SS/A/605 Page 16 of 44
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40. < shredd e B wwfs w Yl A wen 2 Y
Ay 1 B) 2
c 3 {D)/:mﬁna
The number of common tangents of two intersecting circles is
(A) 1 B) 2
cCy 3 (D) infinitely many
41. afy Pt wair 3@ w1 s 9l 92 11 W@ | A 2 2 @t IWHI 9YA 9 H1
wm ?
(A) 1 B) 2
(Cy 3 D) 4
If 5th term of an K.P. is 11 and common difference is 2 then what
is its first term ?
iA) 1 (B) 2
(&) (D) 4
42. n9d IS SR AR A n2 42n+1 2N TEE 631 T R
(A) 29 (B) 19
(C) 15 (D) ¥ & ®ig T
The sum of an A.P. with n terms is n? +2n +1 then its 6th term is
(A) 29 , (B) 19
(C) 15 (D) none of these
SS/A/605
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43, FPeffeadem oo sdi g2 ?
1&1/’ 1,7, 9, 16, ... | (B) x2, x‘?’, x4, xs,...
(C) x 2x, 3x, 4x, ... -{D) 22 42 62 82 ..
Which of the following is in an A.P. ?
@A) 1, 7,'9, 16, ... B) x2 x3 x* x5,
(C) x, 2x, 3x, 4x, ... (D) 22, 42 g2 82 ..
44, Taffga iR aum A d a8 2 2
A) 1,2,3,4, .. B) 3,6,912, ..
(C) 2,4,6,8, ... m) 22 42 62 82, ..
" Which of the followirig is not'1n an AP ?
A 1,23, 4, .. (B) 3,6,9, 12, ...
C) 2,4,6,8, ... (D) 22 42,62, 82, .,
45. gHid W 14, 7, 10, ... F YUY 20 9 w1 ATHA &
A) 500 (B) 540
(C) 590 (D) 690
The sum of first 20 terms of the A.P. 1, 4, 7, 10, ... is
(A) S00 (B) 540
(C) 590 " (D) 690
SS/A/605 Page 18 of 44
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frefefaa § fraw a1 & st d ? | |
(&)  sin? 60’ +cos 60’ @)/sin 90" x cos 90"
(C) sin260° (D)  sin45 x ——o
cos 45
Which of the following values is equal to 1 ?
(A)  sin? 60" +cos60’ (B) sin90 % cos90"
(C) sin260° ©  sina3 x —1
cos 45
47. cos? A(1+tan? A)=
(A) sin? A (B) cosec?A
Cr 1 (D) tan®A
. \ja./ tan 30" =
& V3 : (B) i;?i
o . D) 1
49. cos60° =
a3 m B
(C) 71-_5 (D) 1
SS/A/605 Page 19 .
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’ (1107

50. sin%90° -tan?45 =
N o= 1
A) 1 (B) 2
. D] O
C) —= 0
(C) 7
51. f&g (8sin60° 0)aW (0, 8 cos 60°) & ¥19 #I &l 2
(A) 8 (B) 25
© 64 D) =
8
The distance between the peints [ 8 sin 60° 0 ) and
(0, 8 cos 60°) is
(A) 8 m 25
1
(C) 64 (D) 3
52. AR 0(0,0) s @AW aw frg P s (x, y) & @ G OoP%
(A Yx?-y? By Yx+y?
(C) x2-y? (D) ¥ A ®I§ 7
1f © (0, 0) be the origin and co-ordinates of the point Pbe ( x, y)
then the distance OPis
(A)  yx?-y* B) Yx?+y?
(C) x? - 3,r2 (D) none of these
SS/A/605 Page 20 of 44
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53. y-dE@afazg(12,14)h eh B

\\1@'1/12 ~ (B) 14

(C) 13 (D) 15

[110]

The distance of the point ( 12, 14 ) from the y-axis is
(A) 12 (B) 14y
C) 13 (D) 15

54. fag(-6,-8)H =R

(A) -6 | | B -8

) 6 (D) 8

The ordinate of the point (-6, - 8) is

A) -6 (B) -8

®» &6 (D) 8
55. fag (3, -4)FumeifRmy>

(A) . wuw B) fid
NSl o D) =gd
In which quadrant doeg the point ( 3, -4 ) lie ?
(A)  First . (B) Second
(C) Third (D) Fourth
SS/A/605
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o7.

S8.

[110]
Prerferfiga - famg Refta wrquit R 2

&) (3,2) \@/(—3.21

C) (3,-2) D) (-3,-2)

Which of the following points lies in second quadrant ?

(A (3,2) B) (-3,2)

(C) (3.—'21 (D) (-3,-2)

st (4, -4) 3 (-4, 4) B ferle Tawg 5 b fag &
ECHIIE

(A)  (4,4) B) (-3,2)

(C) (0,-4) D) (-3,-2)

The co-ordinates of the mid-point of the line segment joining the
points (4, -4 )and (-4, % ) are

(A (4,4) (B) (0,0}

(€ (0,~4] (D) (-4,0)

trave ABF mem fag (2, 4 ) R oin fag A & Prgms (5, 7) & A fag
F & fFams ¥

Ay (2,-2) B) (1,-1)

€ (-2,-2) (D) (-1,1)

The mid-point of line segment ABis ( 2, 4 ) and the co-ordinates of

point A are ( S5, 7 ), then the co-ordinates of point B are

A (2,-2) B (L,-1)
€ (-2,-2) (D) (-1,1)
SS/A/605 Page 22 of 44
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59. 1o 0 & = & Rl & Pdwis (10, -6 ) aw (-6, 10)%34;;04
%5 & frgme §
®  (-2,-2) A (2,2)
) (-2,2) (D) (2,-2)
The co-ordinates of the ends of a diameter of 1 dircle are ( 16, -6)
and (- 6, 10). Then the co-o}dinatcs of thecentre of the circle are
(A (-2,-2) A8 (2,2)
(C) (-2,2) D) (2,-2)

ou. uR Feeh e % ol & fadoils (4,6, (0,4) 3 (5,5) & @ P
% Hgw & En® §
(A) (5,3) B) (3,4)
(C) (4,4) D) (3,95)
The co-ordinates of the vertices of a triangle are (4, 6 ), (0, 4 ) and
(S, 5) then the co-ordinates of the centroid of the triangle are
A (5,3) (B) (3,4)
C) (4,4) D) (3,5) 23044

61. Trafafea § S-w im & Iwee yan @@ & 2
® 20‘:32 B 5 272

- _er 51,—3-? O =25
| SS/A/605
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Which of the following fractions has terminating

expansion ?

14 9
(A) | (B)
20 x 32 5! x72
8 15
(C) (D)
22 32 ' 22 x 53
62. —L _ Fwud 0505 ® frar a1 g 2
2N x5m
101 | 9
(A) B
2! x5? ®) 5! x72
I - (o) =3
2°x5 22 x 53
In the form of —£& — ,0:505 ¢an be writtén as
2" x5™M,
101 . 101
A (B)
(A 21x52 2Ix53
c 101 o) —ol

22x52

[ 110
decima

63. MM EMNBa=bg+r ¥ b=q,g=5 N r=1 WD aF AR E?

B 20 B) 21

(C) 25 (D) 31

If in division algorithm a=bg+r, b=4, g=5 and r = 1, then what

is the value of a ?

(A) 20 © (B) 21
(C) 25 (D) 31
SS/A/605 Page 24 of 44
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[110]

c 1,-3 o) -1,-3

The zeroes of the polynomial 2x%-4x-6 are

A) 1,3 B -13
() 1,-3 o) -1,-3
65. Wg4Q {ch‘?’-tp-x2 +2x+1) [x2+2x+1] &l 91 2
a3 @ 4
(C) 5 (D) 6
The degree of the polynomial (x> +x% +2x+1) (x? +2x+1) is
(A) 3 B) 4
© 5 D) 6
66. ffeiiaa # @5 agug 78 & 2
Ay x2-7 (B) 2x2+7x+6
12,1 7 sl
(C) SX +Z X+ 4 BT x+ ~
Which of the following is not a polynomial ?
Ay x*-7 (B) 2x2+7x+6
< 1 2.1 ' 4
(C) -2-.:: +2x+4 (D) x+x
SS/A/605
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67, frfufaa i e R wgwe & w2 @ - 28 7
A x2+a B) x*-4
(O xP-2x+4 | D) x*+/8
Which of the following quadratic polynomials has zerocs
2and-27
(A} x?+4 B) x*-4
(C) x2-2x+4 D) x2+V8
68. TR TR (2+7t+10 F EH o WA Mo+ pHITA R
A 7 8 10
c -7 (D) -10
If « and B are thé zeroes of the polynomial t2+7t+10 then the
value of @+ Gis
(A) 7 (B) 10
< -7 (D) -10
69. (sin 30" +cos 30 }~(sin 60° +cos 60.} =
Ay -1
¢y 1 D) 2
SS/A/605 .
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70.  Tf UM TR (k-1)x? +kx+] F T G=4F - 4 B @ k &1 91 }
) 5
(A) 3 (B) 2
_4 s
(C) 3 (D) 3
If one zero of the quadratic polynomial (k=1)x% +kx+1 is - 4 then
the value of k is
_3 5
(A) 3 (B) 3
4
© -3 (D) %
71 k% fom wm & fog Rem W@ o - 6x+1 =0 %@mmﬁaaqé
o ¥ 2
(A) 6 (B) 8
C) < (D) 10
For whatwvalue of k, roots of the quadratic equation kx? —6x+1 =0
are real and equal ?
Ay 6 (B) 8
() 9 (D) 10
72. IR R p(x) F T [IH 2 @, @ PR § @9 px) o
EvE R ?
A)  x-2 (B}~ x+2
€) x-1 (D) x+1
SS/A/605
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If one of the zeros of the polynomial p(x) is 2 then which of the

following is a factor of p(x) ?
(A)  x-2 | (B) x+2

C) x-1 (D) x+1

73. ﬂﬁ'rgqa cx2+ax+b %Wumﬁﬂ.?ﬁa.ﬂ W‘Tﬁt

8]

(A)

|

(oY ]!

(B)

b o
€ < (D}

6o N0

If @ and B be the zeros of the polgnormal *x2 +ax+ b then the value

ofa.fis
a -a
2 ® =2
b b
(C) P (D) - =

l74a Frafafan § & 3 @ adfteo 8 -
(A ™3)(x-3)=x?-4x3(B) (x+3)? =4(x+4)
O Bx-2)2 =ax? 47 (D) 4x+;‘%;4x
Which of the following is a quadratic equation ?
(A} (x+3)(x-3)=x? -4x3(B) (x+3)% =4(x+4)

(C) (2x-2)2 =4x24+7 (D) 4x+al—x—=4x

SS/A/605 Page 28 of 44
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frafafga 4 @ +19 fgae affesw adi @ »

~
LQJ/Sx—-x2=x2+3 B) x-x%=(x-1)°

(C) (x+3)2=3(x2-5) D) (¥2x+3)2=2x%+5

Which of the following is not a quadratic equation ?

(A) Sx-x%=x%+3 B) x> cx¥wix=1)?
(C) (x+3)2=3(x?-5) D) (Joxw3)?=2x%+5
76. T e 2x2 - 7x+6=Q i AT 2
! ™ -
C) 27 (D) 37

The discrimifiafit of the quadratic equation 2x% -7x+6=0 is
LV B) -1
c 27 (D) 37

77. Tt § 99 fag x = 2 % d@fE w R ?

(A (2,0) B) (2,1)
© (2 2) D) W 8@

Which of the following points lies on the graphof x= 27

Ay (2,0) , B) (2,1)
© (2.2) (D) all of these
('SS/A/605 Page 29 of 44
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78. R P+1,2P+1,4P- 1 GO AR A E @ pF 7 2

(A) 1 (B) 2
(C) 3 : (D) 4
IfP+1,2P+ 1,4P-1 are in A.P. then the value of Pis
a) 1 (B) 2
€ 3 (D) 4

79. @WI@ AN 1, 5,9, ... B WHE FW B

A 2 (B) 3
e 4 . o s

The common difference of afithfmétic progression 1, 5,9, ... 1s
(A) 2 (B) 3

Cc 4 (D) 5

80. THTM %21 5, 8, 11, w4, ... H FA-WI9E 388 ?

Ay rodl B) 11af
@ 24 (D) 134l
Wwhich term of the A.P, 5, 8, 11, 14, ... is. 387
(A) 10th B) 11tht
(C) 12th (D) 13th

81. sin(90 -A) =

(A) sin A B/ cos A

(C) tan A (D) secA

Page 30 of 44
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e a=p=60" A M cos(a-p) & o 2

1
(A) 5 B) 1
oo D) 2
If @=B=60"then the value of cos(a-p) is
1 |
(A) 5 B) 1
(C) O (D) 2
33. afge =45 @ sin & + cos 6 H1 A9
1
(A)  —— B 2
75 (B)
1
© 3 o 1
If 8 = 45° then the value of sin 0 + cos 0 is
1
A = B 2
(A) 7 ®) V2
1
(C) 2 (D) 1
84. AR A=30°F A 2ADA o5 3
l-tan“< A '
&) 2-tan 30° (B) tan 60°
(C) 2 tan 60° (D) tan 30°
If A= 30° then the value of _2tanA is
1-tan? A
(A) 2 tan 30° (B) tan 60°
(C) 2 tan 60° : (D) tan 30°
SS/A/605

[110]

https://www.bsebstudy.com

Page 31 of 44


https://www.bsebstudy.com/

85. afe tane=1—52-sﬁa’isineanm%

YR uB— 12

© = o 2

If tan6=% then the value of sin 0 is

@ \ ® 1

€ % o 2
a6 cos 59° g tan 80° -

sin31° cotl0°

(A) 715— (B) 1

@ B »r 3

87. 4fc @M 25° x tan65° = sin A 8 @ A 1 A 3

(A), 25° (B) 65°
(C) 90° (D) 45°

If tan25° x tan65° = sin A then the value of A is

[110

(A) 25° (B) 65°
(C) 90° (D) 45°
SS/A/605 Page 32 of 44
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X Zlﬁcose=xfhtan9=

2 1- 2
A) yl1+x< (B) X
2 X
L (D) .

If cosf=x then tan 6 =

(A) Jl—? (B) 1;x2
(C) y1-x? D) X
1- x?
89. (l-cos*0)=
(A) cos?28(l-cos? ) (B) sin20 (1+cos?0)
(€) sin20 1-sin?9) (D) sin20 (1+sin?0)
90. y¥gufa iR s Tng>
Ay (y0) B) (2, y)
&7 (0, x) (D) ¥ & =i Tl
What is the form of a point lying on y-axis ?
A) (4 0) B) (2,y)
(C) (0, x) ' (D) None of these
SS/A/605

Page 33 of 44
https://www.bsebstudy.com


https://www.bsebstudy.com/

[ 110
91. fr=fofya 4 & fFa Rem agwe S w+ 3w - 10 § 2

(A) x%+7x-30 (B) x2-7x-30

(C) x%+7x+30 (D) x%-7x+30

Which of the following quadratic polynomials has zeroe:
3and - 10 ? |

(A)  x%+7x-30 (B) x#~—Tx- 30

(C) x2%+7x+30° (DY x%=7x+30

92. ﬂﬁﬁﬂﬁﬁmﬂi@aaﬁvﬁiﬁﬁmaﬁﬁm—ziﬂaﬁ
feama agae 2

(A) x2-3x-b (B) x%?-3x+3

(C) x? - 2%+ 3 (D) x2+3x-2

If the sum of zeros of a quadractic polynomial is 3 and thei

“product is - 2 then that quadratic polynomial is
W x%-3x-2 (B) x2-3x+3
C) x2-2x+3 (D) x2+3x-2

93, 1fe p(x}=x4-2x3+l?xz—4x+30 H g(x)=x+2 g wm fem s

A WTTHS 1 91d R

(A) 6 By 3
(c) = (D) S
i SS/A/605 Page 34 of 4<
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If p(xj=x4—2x3+17x2-4x+30 is divided by g(x)=x+2 then

the degree of the quotient is

A) 6 | (B) 3

) 4 D) S

x+2y+3=0, 3x+6y+9=0 % f5e w1 &N ?

(A) T (B) WIE EA

(C) Ifa w= (D) =& A FE

How many solutions will x+2y %¥8=0,8x+6y+9 =0 have ?
(.A) One solution

(B) No solution

(C) - Infinitely mamy solutions

(D) None ofthese

95. s wewi & e 2R wiw & Al 9w ah
& 1 ‘ B) 2
(C) 3EfEE (D) ‘ T |+ T
If the graphs of two linear equdtions are parallel then the number
of solutions will be
A 1 B) 2
(C) infinitely many . (D) none of these

SS/A /605
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tﬁ:ﬁsmﬁmgm 5x-4y+8=0QEi 7x+6y-9=0'3

96.
(A) dT (B) &
(c) ¥ (D) ¥ & #d T
The pair of linear equations Sx-4y+8=0 and 7x+6y-9=01s
(A) consistent (B) inconsistent
(C) dependent (D) neogpe ofthcsc
97. aft fum afieor 3x2 -5x+2=0 % qF.o & P& A a?+p2 F AR
13
) ® 3
5
€3 o 3
If « and 3 a¥e.roots of the quadratic equation 3x2 -5x+2=0 then
the vameofa> +p is
B 9
) 9 - B) 13
S 3
€ 3 D) ¢
98. ufe fgumm wfieRw 2x2 - 7x- p=0 F & YA 2 W A p &I AA 2
(A) 4 (B) -4
€ -6 - D) 6
SS/A/605 Page 36 of 44
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[ 110
If one root of the quadratic equation 2x% ~7x - p=0 is 2 then the

value of pis
A) 4 B -4

(C} -6 (D) 6

afe fram adfem zxz—x—azoa:iqaaqa%%amqmwz
A) -2 B) 2

(C)

W

D) B

If one root of the quadratic mquiitior 2x? -x-6=0 jg =3

—2—then its
another root is
Ay -2 B) 2
3
© 3 D) 3

oty 2%? -6x+3=0 % 7@ $ WHa ® R ?

A EETE Td WEUH (B) darfas @ 9™

(C) arfas (D) ¥ A F3 T8

What is the nature of the roots of the quadratic equation

2x2 -6x+3=07?

(A) real and unequal (B) real and equal
(C) not real . (D) none of these
SS/A/605
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@ug - ¥ / SECTION - B
#Yg I W9 /.Short Answer Type Questions
o¥T s@aT 18 307% g Ia0y 7y &1 g ® fE 15yt & a7 21 Ids
oy & g 2 sw fAaifia &1 15 x 2 = 3

Question Nos. 1 to 30 are Short Answer Type Questions. Answer an,

15 questions. Each question carries 2 marks. 15 x 2 = 3

{ ' 0
ye ﬁ!z 1+cosB =1+cos '
)' w5 1-cos® sin 0
{ (4]
Prove that l1+cos0 =1+_(:l:)$ ‘
1-cost sin 0

2. fag wt % tan9° . tan27° =cot®8° ot 8P .

Prove that tan9° . tan27® =scous8° cot81°.

3. 3fe cosA=§ 7 dLgof A N cosec A & HH Ad &L

If cos A=— then {ind the values of cot A and cosec A.

m|p

4, ammuWWﬂraﬁﬁﬁ%mﬂw'u‘m 365 ®lI

Find two consecutive positive integers, sum of whose square:
™ 365, .

5. T G % T w1 FM 180 R B WG & w1 q9) w@wn w1 308 T 2
3@ FYA % fore wftemy foad)

The difference of squares of two numbers is 180. The square of th

smaller number is 8 times the larger number. Write the equatior

for this statement.
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e B POR # @ fag s aft Tyl PQ @91 PR W %9W: TH YHN &

%:% aul <PST =«PRQ, @ fag il f6 APQOR w wmfgam

By R

In a triangle PQR, two points S and T are on the sides PQ and PR

respectively such that g%=% and £PST =£ZPRQ, then prove that

2

APQR 1s an isosceles triangle. -

7. afz fedf v ¥ 3w A B 7 I @ wERSE 24 AR R @ wE
Y 1 HAFA F1d

If the radius of base of a conetis T grm@and its height 1s 24 cm  then

find its curved surface arcas

8. Wﬁﬂ@iﬁhﬁ%@ﬁéﬁ:ﬁ?ﬂtﬁimomiﬁmﬁmmﬁmw
HTESA A R

The length of the minute hand for a clock 1s 7 cm. Find the area
swenbhby it in 40 minutes.

9. fuz'% ™ 1an 7° . tan 60° . tan 83° = 3.
Prove.that tan 7° . tan 60° . tan 83° = J??: )

10. fag =+t s 5-J3 w wufol gen R

Prove that 5 - 3 is an irrational number.
11. ks frmmmsfawfagd (1,1),(3, k)3 (-1,4)T@E?

For what value of k points ( 1, 1 ), (3, k)and (-1, 4 ) are
colinear ? -
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y-amqtqmirmﬁgmaaﬁa’lﬁ:gaﬂ(6,5]31‘(1(—4,31@:411@

12
Al
Find such a point on y-axis which is equidistant from the points
(6,5}and[—4,3}.

13. @7rﬂéﬁuﬁ'¢ﬁzﬂw%mﬂ3mmaﬁmm%|aﬁaﬂmmfkgﬁ

$aré 7 ¢ ol Wi San R T w2
A ladder 7 m long makes an angle of 30° with the wall Find the
height of the point on the wall where the ladder temcti®s the wall.
14, U GO 9@F ABCD ) ¥ AD % &€ W1 N E @ fag ¢ @ BE,
cD® F R wfrede & 2 d fag wt f% AABE~ ACFB.
E is a point on the extended past of the side AD of a parallelogram
ABCD and BE intersects CD 4t F }ihen prove that AABE ~ ACFB.
15, A'chasaqﬁwgwmfaga%ﬁmgcmmilﬁzaﬁﬁ;

AB? =2AC?.
ABC is an isesceles right triangle with £C as right angle. Prove that
AB? =24C%

16, fraaeE @ mm o wftem 2x2 -242x+1=0 ¥ & T R
Using quadratic formula find the roots of the equation
2x% -2J2x+1=0.

17. 3+ 11+ 19+ .. +67 & dTHaA AT HL
Find the sumof 3+ 11 + 19 + ... + 67.

18. ufe feeft wwimr 3@ 1 5 & w@ 9 af ug wWW: 43 W 79 & @ FWiA AF
1A H|
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If 5t2 &=c Sth terms of an A.P. are 43 and 79 respectively, find the
AP

19. x°-1 %= x - 1% ym difdw
Divide x> =1 by x + 1.

20. IR TErEE GEINE %1 5@M @R 504 a9T 1188 1 HoHo T Fil
Usmg Euclid's vision algorithm, find the H.C.F. of 504 and 1188.

21. fze= =i 2x? +5x-3=0 % fdas® 7 *t 3k @i H wHh N W
=
Tind the discriminant of the quadratie equation 2x? +5x-3=0
and find the nature of the roots alga.

22. = fag % Fdws wa w A e (-1, 7 3 (4, - 3) F Brem TR
EEVE H 2 : 3% W W o e e e 2
Find the co-ordinates of the point which divides line segment
joining the points.{~ L, 7 ) and (4, - 3 ) in the ratio 2 : 3 internally.

23 Fﬂawmﬁmﬁﬁn%sﬁﬂ%ﬁ&ﬁmhs,—u,(s,—mm
(5,2)4
Find¥lae area of the triangle whose vertices are (-5,-1),(3,-5)
and (5, 2p

24. Tl w1 5 ool 9U3 {1 & #1 F 9B Svwet @
The diagonal of a cube is 9V3 cm. Find the total surface area of
cube.

25. af tano_=% & @l sin 0 + cos 0 F AH T Hi|
If tan9=%thcn find the value of sin 0 + cos 0.
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26.

27.

28.

29.

30.

[110]
afe sin3A=cos(A - 26”)?'3373;4@2{3@013@,&3;1%%3%!

If sin3A=cos(A-26°), where 3A is an acute angle, then find the

value of A.
4 wenall @ A 50 R W e A o wewn q@d A LT
a aEad {1 Hi

The sum of two numbers is 50 and one number i8 % times of the

other ; then find the numbers. https://www.bsebstudy.com

AB = AC 91 T% BHfgag AABC 1 5¢8 T y CB W fRm £ w fag
2139k AD 1 BC 3R EF L AC R, # {62 & f% AABD ~ AECF R
E i1s a point on side CB prodlced of an isosceles AABC with
AB= AC.If AD 1 BC and EF .. AC, prove that AABD ~ AECF.
Th AABC $1 Yol 4B W BC 7wl uifersh AD ©h 3 APQR &
Yl pQ 3R PR @ mfyw PM Fuw: @EEEEl & A Rig #X

- % AABC ~ APOR

Sides A5 and BC and median AD of ‘a AABC are respectively

propestithal to sides PQ and PR and medium PM of another APQR.
Then prove that AABC ~ APQOR.

AABC @1 ADEF G%F4 € Y1 e Sa%e %99: 9 af12 aur 64 a2 §)
gfe DE=5-1 9l 81 @) AB 14 1)

AABC and ADEF are similar and their areas are 9 cmzand 64 cL:rn2
respectively. If DE = 5-1 cm then find AB.

SS/A/605
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7% TH719 W91 / Long Answer Type Questions

v e 31 = 38 g IAAq WA §) W @ Rl 4 WAt &% I | WS

W= & == 5 5= faifta 1 4x5=20
Questic~ %zs 31 to 38 are Long Answer Type questions. Answer any
4 quest-—s Zach question carries 5 marks. . 4x5=20

31. == =0 qW x+3y-6=0 AU 2x - 3g- 12=0 F AI@ G aul

=< |

Draw the graphs of the pair of linea: equations x+3y-6=0 and
2x-3y-12=0 and solve them. |

32. Tog wt % R fodt e & vs Flv'eat P & & F191.% suet @ 3k
¥ HWN S Haka FH T A Aafas & at B ansy @3 ) |
If one angle of a.tri@nele is equal to one angle of the other triangle

and the sidesincladed between these angles are proportional then

prove tharthe tri@ngles are similar.

33. QT Fws WEm F9 IR F g B IR M R @ Il ¥
SR A g ] @ gem aa Hi
A two digit number is four times of the sum of its digits and twice

the product of its digits. Find the number.

34. 7-5%@@%@@3@%%@5:3%@&&@3#@1?3
CICIIE R ]

Draw a line segment of length 76 cm and divide it in the ratio

S : 8. Measure both parts:

SS/A/605 Page 43 of 44

https://www.bsebstudy.com


https://www.bsebstudy.com/

35.

36.

37.

(110

ﬁ-‘l@' Fi & :i:zg::zg; =1+2tan28-236c9 .tanb.

(secb-tan0)
(secf+tan@)

Q 3ol f Brad e 19 @f ok 9 Ff &) 3@ g9 h B J@ H

Prove that =1+2tan29—2$cc6.tan0.

Freeh aifs ¥ <A 99 ) R & A % ST A

The radii of two circles are 19 cm and 9 cm resnectwely. Find the
radius of the circle which has circumf{erence @gual to the sum of

the circumferences of the two cifgles:

frafafga w27 «1 o 79 #:1

al e | 11-13 | 13-15 | 1577 | 17-19 | 19-21 | 21-23 | 23-25

FRERa 7 6 9 13 20 | 5 4

Find the mean®f the following distribution :

Class- | 1) ya 13-15 | 1517 | 17-19 | 19-21 | 21-23 | 2325
interval -
Frequency | 7 6 9 13 [ 20 | 5 4
38. @& v & foas 6 fodw Surd 4 &f } ow ws g A & wfmmw
(unttirgi) 18 @t 3 6 wift &) v fows &1 Tgdie Aawa T w
The slant height of a frustum of a cone is 4 cm and the perimeters
(circumferences) of its circular ends are 18 cm and 6 cm. Find the
curved surface area of the frustum.
SS/A/605 Page 44 of 44

https://www.bsebstudy.com


https://www.bsebstudy.com/

